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Where they recognize the owner of the ox, etc.

OVERVIEW

X1°27 answered that the 0°7v cannot say we came only 1"17 12>, because the Xn>2
is discussing a case where the 07y know the owner but they do not recognize the
goring ox.' There is a dispute between *"21,” who maintains that this answer is
only according to X710 >7Ww»% but not X123 >, and Moon who will explain that
this answer is both according to X110 7> and X723 "W,

nooIn asks:
= DYINMVAY JOPN IINNP NPT NITD N5319ND 9939120 1819 SNIN 99X ON)

And if you will say; the witnesses can still claim, we came to testify to obligate

him to pay a 1'"'17 from the smallest of his oxen, even if they do not know which ox gored -
- 2570 Y0P WIN T 23 (3,75 97 mp%) NINNA PNTS

As we learnt in a mw» in 727 P19 regarding the case where this one said the
smaller damaged —

MDOIN answers:
- 54aN) DO TN Y 91957 1Y YN

And one can say; that the owner can claim, one of my oxen was lost, and perhaps
he caused the damage, and there is no ox to collect from.

mooIn offers an alternate solution:®

" A on pays only 1913, and if they do not know the goring ox there can be no payment 191,

2Ryt

3 See the end of the previous X7& 11"7 '01n [TIE footnote # 7].

* The case there is where two oxen of the p>i» were chasing an ox of the P11, who was damaged by one of the oxen.

The p°1 claimed that the smaller ox did the damage (and since he is a on the 171 may collect only the amount of his

value [which is less than than half the damage]), and the p1°1 claims the larger ox damaged (and therefore he can

collect the entire 1"m); the rule is 7"v»7 and the 1 can only collect from the smaller ox. Similarly here the 2>7¥

claim we know for sure that one of your oxen gored, therefore you must pay a 1"1 from the smallest of your herd. In

any event the 0°7v can claim that we came to make him pay a 1", but not to make him into a 7vw.

5> The 0>y cannot claim @if 7wa 77om 1X) that they came to be 2»nn a 1"n (from his smallest ox), because (they

know that) the owner can claim there is no ox to collect from. [The case in 1> however is when both oxen (the

large and the small) are present.] See ‘Thinking it over’ # 2.

% According to the X"wmn, this following answer is according to the view of X123 *Tw> (and the X0 is 731 92

[not M1 as the 1"2 amends it]). According to X0 *11y™5, where they all came on the same day, we can say that

the ox was lost after all three o>7v testified. However if we maintain X723 >7%w>9, the 0°7v came on three days, so

seemingly the first 0’7y can claim we only wanted to make him pay a 1"n from his smallest ox, and here we
1
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- 581933 795 9NR BN THN TANIT 913 ON
Or you may also say; that one of them was lost after [each 51r9a2] [all the nyaz] -

nooIn asks:
= IYUN NN 129291 JPNT 1927 99NN ON)

And if you will say; that since the 2°7Y do not recognize the ox -
= TIPWrhey MY MY 1T XY NNYNT NIIY IMN NIV

Perhaps the ox that gored the first time is not the same ox which gored the

second and third time, so how can we say that the 0>7v intended to make him a 71, if we do
not know which ox gored?!

nv0IN answers:
- °mn590 Y AW 15NV 17195901 1MING B9 YPYNY ANRIY 1999 91297 U

And one can say; that for instance, after all the three 0>7v °n> testified, they saw
the ox and they recognized him that he did all the three nymaa.

MooIN asks:
- 1Y% P95 PYNI 0992 YT¥NY ©YTYN PR NI2) 1YY PAND ON)

And if you will say; if we maintain X923 571>, the 237» who testified the first

day cannot make him a 7¥1% with their testimony alone, since they do not even recognize

the ox, and he (may have) gored only once -
- 19999 73 M2 nas NY PYYINY NYN

The only way we can say that this first set of 2>7V intends to make him a 79 is (as
moon previously said), that they anticipate that perhaps the ox will gore a
second and third time and then all three sets of 27V may eventually recognize

seemingly cannot say that the ox was lost after all the nir°a1 for by the first or second 71 it was not lost yet.
" The owner can still claim that an ox was lost after each 33, so the 07 can never claim we only wanted to be
2> a 1"n. This is according to the X"wamn.
¥ The n"a71 N3 amends this to read M7 (instead of 731 93). According to the 1", this answer disagrees with the
first answer which states that since the owner could have claimed an ox was lost, the 2>7v cannot claim we came to
make him pay a 1"f. The second answer disagrees and states that we must be discussing a case where the owner
actually claimed that one ox was lost (after all three mna1) therefore the 27y are not believed to claim we only
wanted to make him pay a 1"n.
? This question of Moo is not to be confused with the s'kx question of 7*% 7y >3, The X713 is discussing how
the 0°9v2 received a warning since he does not know which ox to guard. The X3 answers guard them all. n190In is
discussing how the M becomes a 731, and answers that they eventually recognized him.
"% In their original testimony they did not know who the ox is (therefore they are nor coming 1"11 12°17%), but after all
three testified, they then recognized the ox and told the owner and 7"2 that it is this ox. This answer is for TWw»?
X723; there will be a different explanation for X0 *11y>% as Moo will shortly explain.
"' The n"a7 na31 amends this to read 117> nPw*Hw naw (instead of 17907 21 7).
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him; if that is the case -
- By959515 1383 P13 98N 1395MY 1Y 393 B0 At Poyom
So for the same reason the 0’7 can also claim, ‘we came to make him pay a

1"'n when we will recognize him!

In summation: The only reason we assume (according to X123 *T1y»%) that all three 0>7v °n> are
coming to make him into a 791 (even though that at the time of their testimony they did not
recognize the ox and he only gored once or twice), is because the ox may gore in the future and
they will recognize that it is the same ox and he will become a 7v¥; if we are assuming that they
anticipate that (the ox will gore again and that) they will recognize the ox, then it is just as
possible that they only came to make him pay a 1"n when they will recognize the ox."*

MooIn continues that there is a difficulty even if we maintain R0 >73»9:
- NI YUY NNY 1Y P11199NYI 59951 91259 18T NI YTIYY 13999N %5 1229N)

And even if we maintain X790 >719>% (where there is a simpler method to explain
how they can make him into a 7v» without their anticipation that they will
recognize the ox), for we can say that it is a case where they recognized him by

time he gored three Ny, but they did not testify yet (when each n3 saw the 7mA1) -
- 9 052170 DYINN DNV 152 29PN PYNY INIY B NYIY NND)

And after these three days (on which the ox gored), when the o7y came to
testify, this ox (whom they initially recognized) got mixed up with other oxen

who were similar to him so they could not identify him -
- 171)‘\2(‘,7 1IPY INTY NNWNT MTYN NYYA INN 1292991 1PN 750 IV A9 NSV IN

Or the 07y forgot which ox it was that gored, so that they do not recognize him
at the time of the testimony, so now in this case the 2°7y certainly came to

make him a 79 -
- 5535249 NN NIPYWA BYY P13 BYYS IMN 199591 PRY 9 HY N)

"2 We initially said that since they do not recognize the goring ox, their intention was not to be 2m» a 1"n. However
the only way they can intend to make him a 7¥1 (if they do not recognize him), is if later they will recognize him; in
that case they can still claim we only came to be 211 a 1", when we will recognize him.
'3 The n"21 N3 amends this to read YM72°w> (instead of 1°2°wD).
" In fact it is more likely that they will recognize him, (to make him pay a 1) than they will recognize him and he
will gore more times (to make him a 7v1).
'3 All three 07y °n2 agreed that it was this one ox that gored three times. See TN *W19n XN # 43.
' However according to X123 *T9 we cannot give this example, for on the first day the first set of o7y testified
that they do not recognize the 7w, therefore the only way they can make him a 7y is by ‘anticipating’ that he will
gore again and they will recognize him.
" They cannot intend to make him pay a 1", because when they testified they could not point out the 77w. Their only
intention could be to make this ox, which they all initially recognized and knew that it was the same ox, to become a
T¥I1, as Moo will immediately explain.
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And even though they do not recognize the ox (so how could he pay a ¥"1),
nevertheless the owner will pay a w''1, when it will gore a fourth 7o -

= N9 MY 1891‘1’2 (W) N8 97 x9na x22) 11929 929199 VW92 9NT NNON %292
Like XnX '3 who said in the beginning of ny°s 9217 273, it is known that this

one Kkilled him; the same will apply here. All this explains how we can explain the Xn»"2
according to the view that Xmn *Tw»5."

In summation; according to 8710 >7T1¥>Y it is not necessary to say that the three 0>7v are coming to
make him a 797 (even though they do not recognize the ox), because of what they anticipate
may happen in the future (that the ox will gore again and they will recognize the ox [as we said
according to X123 *Tw»7]), because here they are all coming together (not in three separate days
as it is by X123 *11w»9) knowing that he gored three times and they already recognized the ox that
it was the same one for all three times, therefore the next time his ox will gore we will assume
that it is this one and he will have to pay a w"1. Nevertheless there is still a difficulty.

mooIn now concludes his question -
- 4959519 9382 D13 8N 13N UMY 01 8919 ZAvnn 1990w omN DY Y99

But nonetheless those o7y that testified initially can still say, ‘we came to
make him pay a 1''n when we will recognize him’ —

— Y9N TR IN 2R A KRR PRI RN N XN ND 3721 K923 S7IphT
For as we said previously that according to 8933 ST they also cannot say we
came now to make him a 737, but rather there is the concern that perhaps he will

gore a second and third time and the first 2°7v will recognize him, similarly according
to XN XTW™Y, we can say they came to make him pay a 1"n when they will recognize him. **

'8 xmx 27 ruled if there was a known wild camel in the herd and another camel was found killed next to this wild
camel, it is assumed that this wild camel killed it. Similarly here, since we know that one ox of this herd is a 73,
when an ox from this herd gores we assume it is the 7911 that gored and he will have to pay a w"1. See ‘Thinking it
over’ # 2.
' The advantage in explaining the X012 according to XMn >Tw™ is that we do not have to say that the first 07y
anticipated that there might be future M3 to make him a 79 (as we explained according to X123 *TWw»% [see
footnote # 12]), but rather they already knew when they testified in 7"»2 that one ox gored three times. Nonetheless
there is still a difficulty with X7 n 7% as well, as Mo0IN continues to explain.
% The n"~an amends this to 17°¥7w (instead of 1"37w)
' Tt is not logical to say that the third set of 0*7y (with whose testimony the ox becomes a T immediately), are
testifying only to be 2>i him a 1"17; however when the first two sets testify (even though they came on the same day
[and they knew of the testimony of the other 7% (see footnote # 15 & 19)]), nevertheless when they testify, the ox
is not a 71 yet, so they can still claim that they are coming 1" 12177 in ‘anticipation’ that they will recognize him.
*2 This should read ¥M7"2°w3 (according to the 1127 MAT; not 11°°w).
* This question on X1 7w is only according to Moo N that the answers (including Wi PP PRY) are
explaining the Xn>>92 even according to X123 *7w»%. This means therefore that X1°21 agrees to the concept that the
o7y anticipate recognizing the ox later and therefore they intend to make him a 7y (otherwise how can he explain
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In summation: we can still argue that the first two sets of 2>7v came only to be 2°n» a 1"n, when
they will recognize him, as we said according to X723 75,

N1B0IN answers:
- 11195950 1Y 595 PYNY ©1Y N5 RY NN PTI O8N 13990 INT 9109 Y

And one can say; that if their intent is 1''77 122:1% they should not testify at all

until they recognize the ox, for nothing is accomplished now with their testimony -
= INN NYY INTY DAN

But rather they are certainly coming to make him a ¥, so they need to do that

now even before they recognize the ox -
= FPPYI2Y AN ONIP TOYNY 193598 NI2) S7IP0T 12 NN Y TIY»Y 19295

Because whether we maintain X710 9799 or whether X723 7992 they need to

testify before the fourth mma: -
- 11990 OP TYNY 991IY 192598 799 APNN MWV 1Y DX2NNN OIY¥AN PNT

Since the owners are not obligated to pay a ¥"l until they are previously
warned, so therefore these 0°7v have to hurry and testify even before they

recognize the ox, so that when the fourth 7> takes place the owner will be 2r.
- *0rwoN NY 129939 N92) S1IYT 192 NN SIYT 192 PNINND THT HNIN 13929 W99 199

And the "' also interpreted in this manner, that this 8n>»92 is both according

to X710 7™ and X723 7% and the query was not resolved whether X0 1w
or X123 "W,

nooIn asks:
= AN NYN 199991 PRY 2IWN RDT NN

And it is astounding! Why did not the X723 answer that the 2°7v do not
recognize the ox that was gored; so we cannot say 1"n 12°11%; only to make him a 79 -

= 198Y DY DMV NIY YYNY IN 23930 DY IX 9PN HY MY NIIY ) ON
Or it could have also answered that it gored an ownerless ox, or one belonging
to a "1v12, or they testified that he gored his own oxen; in all these cases there is no

payment, so the purpose of the testimony is to make him a 797 when he will gore an ox for
which we can charge him.

N1B0IN answers:
- 2PN 5393 NYN NP ANTYN PR RNDYT PNYS 13539 92IN)

the Xn>>"2 according to X123 *7w»Y), it follows therefore that they can just as easily anticipate recognizing the ox in
order 1"n 1219, [However if we maintain that X127 is only answering according to X710 *7T1w»% then there is no
question, for perhaps &1°27 does not consider the entire concept of ‘anticipation’.]
* However according to *"wA that the answers are only according to X0 *7w>%, we have resolved the query that it is
XN TS
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And the >'"1 answered that perhaps a warning testimony is not valid unless
there is an obligation to pay” (at least in principle) -

TYPONT IN 2IYIIT NN RNY D991 PN INRT NNNINA NIVN 029991 PRY 919139 819 XY 799
And therefore X1°27 could not have said that they do not recognize the gored
ox (where seemingly it would be a valid warning since in principle there is an
obligation to pay if it belongs to a fellow Jew), for if they do not recognize him,

perhaps the gored ox belongs to a ®1v12 or it is 92577 where in principle there is no
obligation to pay, so the warning is not valid.

SUMMARY

The answer of &1°27 (that Wi 1771 PRI MW YY1 1°7°0n) explains the Xn°>12 according
to XN 7w and X123 *7wH. They cannot be coming to be 21 him a 1"n from the
smallest of his herd, because he can say the animal that you testified about was lost.
The ox becomes a 7V when they recognize him later. Nevertheless they cannot claim
1"1 12»n% when we will recognize him, for then they should have testified after they
recognized him; however they need to testify now to make him a 79 in order to warn
the owner. A warning is valid only if the goring requires a payment.

THINKING IT OVER

1. Mmoo explains in detail what the intent of the 27y was; whether to be 217 a 1"n
or make him a 7v, when they recognize him, etc. However the fact here is that
these 077y are 7M1 07V, they concocted this whole story, so obviously there were
in collusion from the beginning to make him pay a w"l; there is no issue of
recognizing an ox that never gored, no issue of anticipation; this was simply a
frame up on part of the 0°7¥, so of course they intended to do the worst harm
possible and make his ox a 79 so he will pay a w"1!*°

2. How can nmpo1n say that when there is a fourth 7r7°21 we will assume it was that

ox,”’ when moon previously said®® that the owner can claim the ox was lost?!*

 This explains why it cannot be "33 ;779577 or M3y w oMW for in these cases there is no obligation at all. However
it does not explain why it cannot be where they do not recognize the gored ox (where in principle there is an
obligation to pay); n1d0IN continues to explain.
2 See 7w "N,
*7 See footnote # 18.
¥ See footnote # 5.
* See TN WO TN # 39.
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